
&DVH�1R�������=������%HOW�/LQH�5RDG '5$)7

2UGLQDQFH�1R��BBBBBBBBBBB

72:1�2)�$'',621��7(;$6

25',1$1&(�12��BBBBBBBB

$1� 25',1$1&(� 2)� 7+(� 72:1� 2)� $'',621�� 7(;$6� $0(1',1*� 7+(�
&2035(+(16,9(�=21,1*�25',1$1&(�72�5(=21( ������$&5(6�2)�3523(57<�
/2&$7('�$7� �����%(/7�/,1(�52$'�)520�3/$11('�'(9(/230(17�',675,&7�
2�������� $6� $0(1'('� %<� 25',1$1&(� 2�������� 72� $� 1(:� 3/$11('�
'(9(/230(17� ',675,&7� BBBBBBBB� %$6('� 21 %(/7� /,1( �%/� ',675,&7�
5(*8/$7,216� :,7+� 02',),('� '(9(/230(17� 67$1'$5'6� 3529,',1*� $�
6$9,1*6� &/$86(�� 3529,',1*� $� 6(9(5$%,/,7<� &/$86(�� 3529,',1*� )25� $�
3(1$/7<�2)�$�),1(�127�72�(;&(('�7+(�680�2)�7:2�7+286$1'�'2//$56�
���������)25�($&+�2))(16(��3529,',1*�$1�())(&7,9(�'$7(�

:+(5($6��WKH�7RZQ�RI�$GGLVRQ��7H[DV��WKH�³&LW\´��LV�D�KRPH�UXOH�PXQLFLSDOLW\�KDYLQJ�IXOO�
SRZHU�RI�ORFDO�VHOI�JRYHUQPHQW�SXUVXDQW� WR�$UWLFOH�����6HFWLRQ���RI�WKH�7H[DV�&RQVWLWXWLRQ�DQG�LWV�
+RPH�5XOH�&KDUWHU��DQG

:+(5($6��DW�LWV�UHJXODU�PHHWLQJ�KHOG�RQ�0D\���� ���� WKH�3ODQQLQJ�	�=RQLQJ�&RPPLVVLRQ�
FRQVLGHUHG� DQG� PDGH� UHFRPPHQGDWLRQV� RQ� D� UHTXHVW� IRU� D� 3ODQQHG� 'HYHORSPHQW� 'LVWULFW� �&DVH�
1R������=���DQG

:+(5($6��WKLV�FKDQJH�RI�]RQLQJ�LV�LQ�DFFRUGDQFH�ZLWK�WKH�DGRSWHG�&RPSUHKHQVLYH�3ODQ�RI�
WKH�7RZQ�RI�$GGLVRQ��DV�DPHQGHG��DQG

:+(5($6� DIWHU�GXH�GHOLEHUDWLRQV�DQG�FRQVLGHUDWLRQ�RI�WKH�UHFRPPHQGDWLRQ�RI�WKH�3ODQQLQJ�
DQG� =RQLQJ� &RPPLVVLRQ�� WKH� LQIRUPDWLRQ� UHFHLYHG� DW� WKH� SXEOLF� KHDULQJ�� DQG� RWKHU� UHOHYDQW�
LQIRUPDWLRQ�DQG�PDWHULDOV��WKH�&LW\�&RXQFLO�RI�WKH�7RZQ�RI�$GGLVRQ��7H[DV�ILQGV�WKDW�WKLV�RUGLQDQFH�
SURPRWHV�WKH�JHQHUDO�ZHOIDUH�DQG�VDIHW\�RI�WKLV�FRPPXQLW\��
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6HFWLRQ��� 7KH� UHFLWDOV� DQG� ILQGLQJV� VHW� IRUWK� DERYH� DUH� KHUHE\� IRXQG� WR� EH� WUXH� DQG� FRUUHFW� DQG�
LQFRUSRUDWHG�DV�LI�IXOO\�VHW�IRUWK�KHUHLQ�

6HFWLRQ��� 3ODQQHG�'HYHORSPHQW�'LVWULFW�BBBBBB�LV�KHUHE\�HVWDEOLVKHG�IRU�WKH������ DFUHV RI�ODQG
ORFDWHG�DW������%HOW�/LQH�5RDG��DQG�PRUH�VSHFLILFDOO\�GHVFULEHG�LQ�([KLELW�$ DWWDFKHG�KHUHWR�DQG�
LQFRUSRUDWHG� KHUHLQ� �WKH� ³3URSHUW\´��� LQ� DFFRUGDQFH� ZLWK� DOO� %HOW� /LQH �%/� ]RQLQJ� GLVWULFW�
GHYHORSPHQW�UHJXODWLRQV�FRQWDLQHG�LQ�WKH�7RZQ�RI�$GGLVRQ��&RGH�RI�2UGLQDQFHV��DV�DPHQGHG��ZLWK�
WKH�IROORZLQJ�VSHFLDO�FRQGLWLRQV�

$� 7KH�SURSHUW\�PD\�EH�GHYHORSHG�ZLWK�PRGLILFDWLRQV� WR� WKH�%/ �%/��SHUPLWWHG�XVHV� DQG�
GHVLJQ� VWDQGDUGV� IRU� EORFN� OHQJWK DQG H[WHUQDO� IDoDGH� JOD]LQJ DV� VKRZQ� LQ�([KLELW� %
DWWDFKHG�KHUHWR�DQG�LQFRUSRUDWHG�KHUHLQ�

%� 7KH�PLQLPXP�ORW�VL]H�IRU�WKLV�3ODQQHG�'HYHORSPHQW�VKDOO�EH�������DFUHV�
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6HFWLRQ��� 7KH�SURSHUW\�VKDOO�EH�LPSURYHG�LQ�DFFRUGDQFH�ZLWK�WKH�VLWH�SODQ��IORRU�SODQV��ODQGVFDSH�
SODQV��DQG�EXLOGLQJ�HOHYDWLRQV VHW�IRUWK�LQ ([KLELW�%�

6HFWLRQ��� $Q\�SHUVRQ��ILUP��RU�FRUSRUDWLRQ�YLRODWLQJ�DQ\�RI�WKH�SURYLVLRQV�RU�WHUPV�RI�WKLV�RUGLQDQFH�
VKDOO�EH�VXEMHFW�WR�WKH�VDPH�SHQDOW\�DV�SURYLGHG�IRU�LQ�WKH�&RPSUHKHQVLYH�=RQLQJ�2UGLQDQFH�RI�WKH�
FLW\��DV�KHUHWRIRUH�DPHQGHG��DQG�XSRQ�FRQYLFWLRQ�VKDOO�EH�SXQLVKHG�E\�D�ILQH�VHW�LQ�DFFRUGDQFH�ZLWK�
&KDSWHU� ��� *HQHUDO� 3URYLVLRQV�� 6HFWLRQ� ������ *HQHUDO� SHQDOW\� IRU� YLRODWLRQV� RI� &RGH�� FRQWLQXLQJ�
YLRODWLRQV��RI�WKH�&RGH�RI�2UGLQDQFHV�IRU�WKH�7RZQ�RI�$GGLVRQ�

6HFWLRQ� �� 7KH� SURYLVLRQV� RI� WKLV� 2UGLQDQFH� DUH� VHYHUDEOH�� DQG� VKRXOG� DQ\� VHFWLRQ�� VXEVHFWLRQ��
SDUDJUDSK��VHQWHQFH�� �SKUDVH�RU�ZRUG�RI� WKLV�2UGLQDQFH��RU�DSSOLFDWLRQ�WKHUHRI�WR�DQ\�SHUVRQ��ILUP��
FRUSRUDWLRQ�RU�RWKHU�EXVLQHVV�HQWLW\�RU�DQ\�FLUFXPVWDQFH� EH�DGMXGJHG�RU�KHOG�WR�EH�XQFRQVWLWXWLRQDO��
LOOHJDO�RU�LQYDOLG��WKH�VDPH�VKDOO�QRW�DIIHFW�WKH�YDOLGLW\�RI�WKH�UHPDLQLQJ�RU�RWKHU�SDUWV�RU�SRUWLRQV�RI�
WKLV�2UGLQDQFH��DQG�WKH�&LW\�&RXQFLO�KHUHE\�GHFODUHV�WKDW�LW�ZRXOG�KDYH�SDVVHG�VXFK�UHPDLQLQJ�SDUWV�
RU�SRUWLRQV�RI�WKLV�2UGLQDQFH�GHVSLWH�VXFK�XQFRQVWLWXWLRQDOLW\��LOOHJDOLW\��RU�LQYDOLGLW\��ZKLFK�UHPDLQLQJ�
SRUWLRQV�VKDOO�UHPDLQ�LQ�IXOO�IRUFH�DQG�HIIHFW�

6HFWLRQ��� $OO�RUGLQDQFHV�RI�WKH�&LW\�LQ�FRQIOLFW�ZLWK�WKH�SURYLVLRQV�RI�WKLV�RUGLQDQFH�EH��DQG�WKH�VDPH
DUH�KHUHE\�UHSHDOHG�DQG�DOO�RWKHU�RUGLQDQFHV�RI� WKH�&LW\�QRW� LQ�FRQIOLFW�ZLWK� WKH�SURYLVLRQV�RI� WKLV�
RUGLQDQFH�VKDOO�UHPDLQ�LQ�IXOO�IRUFH�DQG�HIIHFW�

6HFWLRQ�����7KLV�2UGLQDQFH�VKDOO�EHFRPH�HIIHFWLYH�IURP�DQG�DIWHU�LWV�SDVVDJH�DQG�DSSURYDO�DQG�DIWHU�
SXEOLFDWLRQ�DV�PD\�EH�UHTXLUHG�E\�ODZ�RU�E\�WKH�&LW\�&KDUWHU�RU�RUGLQDQFH�
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%HLQJ�SDUW�RI�/RW���5��%ORFN�$��RI�3ULQWHPSV�$GGLWLRQ�1R�����DQ�DGGLWLRQ�WR�WKH�7RZQ�RI�$GGLVRQ��
DFFRUGLQJ�WR�WKH�SODW�WKHUHRI��UHFRUGHG�LQ�9ROXPH��������3DJH�������'HHG�5HFRUGV��'DOODV�&RXQW\��
7H[DV��DQG�EHLQJ�PRUH�SDUWLFXODUO\�GHVFULEHG�DV�IROORZV��

%(*,11,1*�DW�D������LURQ�URG�IRXQG�LQ�WKH�6RXWK�OLQH�RI�%HOW�/LQH�5RDG��D YDULDEOH�ZLGWK�ULJKW�
RI�ZD\��DW�WKH�1RUWKZHVW�FRUQHU�RI�/RW����%ORFN�(��RI�WKH�5HSODW�RI�$VEXU\�&LUFOH��DQ�DGGLWLRQ�WR�
WKH�7RZQ�RI�$GGLVRQ��DFFRUGLQJ�WR�WKH�SODW�WKHUHRI��UHFRUGHG�,Q�,QVWUXPHQW�1R����������������
2IILFLDO�3XEOLF�5HFRUGV��'DOODV�&RXQW\��7H[DV��

7KHQFH�6RXWK������
����:HVW��D�GLVWDQFH�RI������
�WR�D������LURQ�URG�IRXQG�DW�DQ�LQWHULRU�FRUQHU�RI�
VDLG�$VEXU\�DGGLWLRQ��

7KHQFH�6RXWK������
����:HVW��SDVVLQJ�DW�D�GLVWDQFH�RI�������
�WKH�:HVW�FRUQHU�RI�VDLG�/RW����VDPH�
EHLQJ�D�1RUWKHUO\�FRUQHU�RI�/RW��&����%ORFN�'��RI�WKH�5HSODW�RI�/RWV��$���%���&�����5���DQG����
DQ�DGGLWLRQ�WR�WKH�7RZQ�RI�$GGLVRQ��'DOODV�&RXQW\��7H[DV��DQG�FRQWLQXLQJ�D�WRWDO�GLVWDQFH�RI������
��
�WR�DQ��;��IRXQG�LQ�FRQFUHWH��DW�DQ�LQWHULRU�FRUQHU�RI�VDLG�5HSODW��VDLG�SRLQW�EHLQJ�WKH LQ�D�FXUYH�
WR�WKH�OHIW�KDYLQJ�D�FHQWUDO�DQJOH�RI������
�����D�UDGLXV�RI�������
�DQG�D�FKRUG�EHDULQJ�DQG�GLVWDQFH�
RI�1RUWK������
����:HVW��������
�

7KHQFH�1RUWKZHVWHUO\��DORQJ�VDLG�FXUYH�WR�WKH�OHIW��DQ�DUF�GLVWDQFH�RI�������
�WR�D������LURQ�URG�
ZLWK�D�\HOORZ�SODVWLF�FDS�VWDPSHG��53/6�������VHW�LQ�WKH�LQWHULRU�1RUWK�OLQH�RI�VDLG�/RW��&���

7KHQFH�1RUWK������
����:HVW��D�GLVWDQFH�RI�������
�WR�DQ��;��FXW�VHW�LQ�FRQFUHWH�DW�DQ�LQWHULRU�
FRUQHU�RI�VDLG�/RW��&���

7KHQFH�1RUWK������
����(DVW��D�GLVWDQFH�RI�������
� WR�D����
� LURQ�URG�ZLWK�D�\HOORZ�SODVWLF�FDS�
VWDPSHG��53/6�������VHW�LQ�WKH�PRVW�1RUWKHUO\�(DVW�OLQH�RI�VDLG�/RW��&���

7KHQFH�1RUWK������
����(DVW��D�GLVWDQFH�RI������
�WR�D�WR�D������LURQ�URG�ZLWK�D�\HOORZ�SODVWLF�FDS�
VWDPSHG��53/6��������VHW�LQ�WKH�VDLG�6RXWK�OLQH�RI�%HOW�/LQH�5RDG��
7KHQFH�6RXWK���
��
����(DVW��DORQJ�VDLG�6RXWK�OLQH��D�GLVWDQFH�RI�������
�WR�DQ��;��VHW�LQ�FRQFUHWH�
IRU�FRPHU��

7KHQFH�6RXWK���
��
����(DVW��FRQWLQXLQJ�DORQJ�VDLG�6RXWK�OLQH��D�GLVWDQFH�RI�������
�WR�D������LURQ�
URG�ZLWK�D�\HOORZ�SODVWLF�FDS�VWDPSHG��53/6��������VHW�IRU�FRUQHU��
7KHQFH�6RXWK���
��
����(DVW��FRQWLQXLQJ�DORQJ�VDLG�6RXWK�OLQH��D�GLVWDQFH�RI������
�WR�WKH�3/$&(�
2)�%(*,11,1*�DQG�FRQWDLQLQJ��������VTXDUH�IHHW�RU�������DFUHV�RI�ODQG�
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